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Practice
Similar Triangles

Determine whether each pair of triangles is similar. Justify your answer.
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ALGEBRA Identify the similar triangles, and find x and the measures of the
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Use the given lnformat}on to find each measure. NYSER
5.If TS | QR, TS = 6,PS = x + 7, 6.IfEF | HI, EF = 3, EG = x + 1,
QR =8,and SR =x — 1, HI = 4, and HG = x + 3,
find PS and PR. ' find EG and HG. '
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A lighthouse casts a 128-foot shadow. A nearby lamppost that measures 5 feet 3 inches casts

an 8-foot shadow. ‘1/ s oo -
7. Write a proportion that can be used to determine the height of the lighthouse. £l
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8. What is the height of the lighthouse?
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